1

ey ® Dt lovence Lirentiter
Den (§F°+4% Z) = Svn ldoe

Lo S (120°~F2°) = coS 5&°

o (14" b)) = 4dom bo”

o (54 om(3g) = =5

fof ('YT“+ ‘ﬁ“) los |2
2

S
-
e

tm 1o’

1+ Yom b >F ol 5o

Yo (~105°) = tan (45 150%) = tam U5~
:': =2 G+F) (24930

Hva (’9@}(—9‘}“)

S 24e” = %ffh(’%m“ Y5 = </h Y éi»/

'lZfZ’Jz - Q‘?‘\j%—

. Los(p1a )= Cotfoeos o = Sinpind ,
?(i )': ( f\;‘& N :/'»_%_f\f/“__ﬁ‘ \) B ﬂ{j_‘;’?m | —ZZ {;
A e e . = | c &\
o R

At (- P) = Apme ot . E ~(2) _ a7 R

) + Lo ol Ll 1+(5f%) %7% bz



7
| o (T-X) = S lelX = LotTiuax
I B =0 las = (=1)Guipx T c:;m;’x’ v

g T |
gm { Zoix )= G 5 Losx + o Frémx I
=/- Ll&zé)f;i o = lglx v

| 000 (70 ;372 o{dotx)
= (00 30" 0@4@% S1 ,_f? T MQL%OLSX gﬁj@éﬁzk —
== ,J‘—,,:fgg,)@, Il

4 ;ngaf@z{%%)*&ﬁf/gwg) B
- (/a)”qz ot - M@%ﬂiyﬁﬁﬁi&ﬁﬁ@ R—
2.0y Los B

4¥§¢x@zf#c»q;;h%‘ ~ (e it — 05X St Z)=2
Deasxem Ty =Y P logn =ty
Zfﬁgﬁf/z}?“' o — la=2% 55 (

, s
e 2fomrcesT £Luxtmz) = O
;, . N il X = ZM@ xwfx o
R mx ~Zi’fm><~o‘ L Smx (1~2co/X) =
/gzg);{ Cax o ZLlhX =S ,ém_g(u L0l =5
4 Colx 7 - D:o,r % =Py, Pl \




